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1. Aν   𝜶 ∈ 𝑰𝑹    τότε:      𝜶  = 𝜶. 

                                                                                                              ΢ωςτό                       Λάθοσ                                                

2. Aν   𝜶 ∈ 𝑰𝑹    τότε:       𝜶   = |𝜶|. 

                                                                                                             ΢ωςτό                       Λάθοσ                                                

3. Aν   𝜶 ∈ 𝜡    τότε:    |𝜶| ∈ 𝜡. 

                                                                                                             ΢ωςτό                       Λάθοσ                                                

4. Aν   𝜶 ∈ 𝜡    τότε:    |𝜶| ∈ 𝜨. 

                                                                                                             ΢ωςτό                       Λάθοσ                                                

5. Η  εξίςωςη    𝒙 =  𝟐    είναι αδφνατη. 

                                                                                                             ΢ωςτό                       Λάθοσ                                                

6. Η  εξίςωςη    𝒙 = −𝟏    είναι αδφνατη. 

                                                                                                             ΢ωςτό                       Λάθοσ                                                

7. Για κάθε   𝒙 ∈ 𝑰𝑹   είναι:     |𝒙|𝟐 = 𝒙𝟐. 

                                                                                                             ΢ωςτό                       Λάθοσ                   

8. Για κάθε   𝒙 ∈ 𝑰𝑹   είναι:      𝟐𝒙 = 𝟐𝒙. 

                                                                                                             ΢ωςτό                       Λάθοσ                   

9. Για κάθε   𝜶 ∈ 𝑰𝑹   είναι:     𝒙𝟐 − 𝟒𝒙 + 𝟒 =  𝒙 − 𝟐 𝟐 

                                                                                                             ΢ωςτό                       Λάθοσ                      

10.  Για κάθε   𝒙 ∈ 𝑰𝑹   είναι:      𝒙𝟐 − 𝟒𝒙 + 𝟓 = 𝒙𝟐 − 𝟒𝒙 + 𝟓. 

                                                                                                             ΢ωςτό                       Λάθοσ                   

11. Για κάθε   𝒙 ∈ 𝑰𝑹   ιςχφει:      𝒙 −  𝒙  = − 𝒙 −  𝒙   

                                                                                                             ΢ωςτό                       Λάθοσ                   

12. Για κάθε   𝒙 ∈ 𝑰𝑹   ιςχφει:      𝒙 +  𝒙  = − 𝒙 +  𝒙   

                                                                                                             ΢ωςτό                       Λάθοσ                   
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13. Η  εξίςωςη      𝒙 − 𝒙 = − 𝒙 −  𝒙     είναι αόριςτη. 

                                                                                                              ΢ωςτό                       Λάθοσ                   

14.  

 

15. Αν  ιςχφει    𝜶 𝜷 + 𝜷 𝜶  = 𝟐 𝜶𝜷 ,     𝜶, 𝜷 ∈ 𝑰𝑹   δείξτε ότι οι αριθμοί  𝜶  𝜿𝜶𝜾  𝜷  είναι ομόςημοι. 

 

16.  


